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int main(void)
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#include <stdio.h>
int main(void) X5 if X
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printf "BEHEADLTLEZELN: ) ;
scanf (“%d”, &a);

if(a<0){
a*x -1;
]
printf (" AB LT-{EDHEXHEIINITT¥N", a);

return O;
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#tinclude <{stdio.h>

int main(void)
{

int a;

printf "BE#HEAADLTLFZEL: ),
scanf ("%d”, &a);
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elsel
printf AN L-MEITFEHTIT");
]

return O;
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#include <stdio.h>

int main(void)

{

int a;

printf "BE#HEAADL TSI 7);
scanf ("%d”, &a);

if(a<0{

printf "AALI=EIFEATITH™);
]
else if(a> 0){

printf " AFLI-{EIXIETTYN");
]
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printf (" ADL1={EFOTI¥");
]

return O;
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#include <stdio.h>

int main(void)
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int a;
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break;
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case 3:
printf " A LI={EF3TI");
break;

default:
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